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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
1) o4 2 81 3 96 4 47
x 8 x 5 x 8 x 3 L
2.
3
4.
5 26 6 20 N 91 8 19
x 8 x 3 x 9 x 9 5
6.
7.
8.
9 21 100 08 11) 68 12) 15
X 6 x 7 X 6 x 8 9.
10.
11.
12.
13) @7 14) 40 15 50 16 17
14,
15.
16.
17) 27 18) 70 19) 15 200 21
x 8 X 6 x 9 x 9 17.
18.
19.
20.
- 1-10 [95[90]85[80 | 75] 70 656055 [ 50
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Moltiplicazioni (verticali) Nome Soluzioni
Risolvi ogni operazione. Risposte
1) o4 2 81 3 96 4 47
x 8 x 5 x 8 x 3 1 752
752 405 768 141 ) 405
3 768
4, 141
5 26 6 20 N 91 8 19
x 8 x 3 x 9 < 9 5 208
208 60 819 171 . 60
7. 819
8. 171
9 21 100 98 11) 68 12) 15
X 6 x 7 X 6 x 8 Q. 126
126 686 408 120 o 686
1. 408
12 120
13) @7 14) 40 15 50 16 17
x 3 X 6 x 3 x 8 13 201
201 240 150 136 ” 240
15, 150
16. 136
17 27 18) 70 19) 15 200 21
x 8 X 6 x 9 x 9 17. 216
21 42
6 0 135 189 . 420
1. 135
20. 189
- 1-10 [95[90[85[80[75] 70] 65] 60 55| 50
MatematiCall = - oreshessit 11-20[45] 40 35(30] 5] 20[ 15[ 10 5 | 0
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Moltiplicazioni (verticali) Nome:
Risolvi ogni operazione. Risposte
7 A
405 752 171 60
1.
686 126 819 141
120 408 768 208 >
\. Y
3
) 94 2 81 3 96 4 47
X 8 x 5 X 8 x 3 4.
5.
6.
7.
8.
5 26 6 20 N 91 8 19 9.
x 8 x 3 x 9 x 9
10.
11.
12.
9 21 100 98 11) 68 12) 15
X 06 x 7 X 6 X 8
- Semplificato 1-10 (92| 83| 75]67[58]50] 42| 33| 25]17]
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